10. Maria had Spanish storybooks and English storybooks in the ratio
5 : 7. After she bought 34 storybooks, she had three times as many
Spanish storybooks and twice as many English storybooks as before.
How many storybooks did she have at first?

11. The number of Paul's toy soldiers and toy cars are in the ratio 3 : 4. if he
throws away % of his toy soldiers and -;- of his toy cars, he will have 24
toy soldiers and toy cars left. How many toy soldiers and toy cars does
have have altogether?

12. The ratio of Peter's money to Mark’s mone was 7 : 10. After Peter bought
5 comic books at $3.60 each, the ratio of Peter’'s money to Mark's money
was 1 : 4. How much money did Peter and Mark have left?
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